


H & 0l & AFS Z Al A
20228 = =0l LB H A= 0t
2M: TAHED
Mz AR
& SAIHE 2tel (el &3
SA SR (S) - MRAY - BAS il &t i RS2
SAIA= 8,409,699 14,789,857 A6,380, 158
SADHE 5,740,920 5,078,275 662,645
SAIAHE 2el 561,600 475,950 85,650
SAZeHE 2l 97,600 35,950 61,650
201 Ler2gd| 40,600 18,950 21,650
01 AFS 22l bl 40,600 18,950 21,650
ozZelHE d2Fdns 4,840,000 54 24,200
OZHEARAS HA=Z 100,000 *1501x43] 6,000
OZHERAJS M= M 100, 000& =43 400
O=Ze|HE Z2H(HE) EL(Z0I8HE)
10,000, 000& * 14! 10,000
202 04| 5,000 5,000 0
01 =L YI 5,000 5,000 0
OXLAHE HRFX 100,000 521 x103| 5,000
203 HRF&H| 2,000 2,000 0
03 Al =X R A 2,000 2,000 0
OEZAIHE AMPR F& 2,000,000 =14 2,000
401 A& HI YL 20HHI 50,000 10,000 40,000
01 Al&HI 50,000 10,000 40,000
O AHXIF SAIHEAIE &Y
50,000, 000 * 14! 50,000
SAHE Ja X2l 44,000 40,000 4,000
201 et gy| 44,000 40,000 4,000
02 2322l 44,000 40,000 4,000
OZAHEEEMAAAR(UPIS) BXI&2]
44,000,000 * 14 44,000
&2k Z2telHal MHEHI 420,000 400,000 20,000
401 Al HI L2 0HHI 420,000 400,000 20,000
01 A&l 420,000 400,000 20,000
O Z2L/HE (MEH) Z2E(HE)
420,000,000& 14 420,000
SAIHE Fl 5,179,320 4,587,800 591,520
ZHEAE X2 630,000 450,000 180,000
201 LBr2Fd| 30,000 36,800 26,800
01 AL 22l bl 30,000 36,800 26,800
OZEE=RX AMEZ 30,000,000 14! 30,000
401 A& HI YL 20| 600,000 413,200 186,800
01 Al&HI 600,000 413,200 186,800
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A ZAHED

R CAIDHE

ol SAIHE Ful (che &S
% = PSNE
SN B CR(BH) - MRAY - BES 0l et S HRE
OZHEAIE Z2EHE & AANEHES
50,000, 0002 14 50,000
OZHEETZ SHELEIA 200,000, 000& » 14! 200,000
OZAHEAIE FXE=Z2A 100,000,000 14! 100,000
OTZHEETZE XM DA
100,000,000 *14] 100,000
OZHAIE HAERX B4
150,000, 000& 14! 150,000
202 A4 22 74,400 45,800 28,600
201 LetEdy| 30,400 1,800 28,600
01 At 22|l 20,400 1,800 18,600
oZnsael MRAAE YA
100, 000& 62! +23] 1,200
OZIZEHES MOV MALT
100, 000& *62! %23 1,200
0223 NsZNLMAIAE 89 2H
18,000,000+ 14 18,000
02 2322l 10,000 0 10,000
0228 TUHsZNUMAIAE Stz
10,000,000+ 14 10,000
307 SI2toI & 44,000 44,000 0
05 QIZtRIE S 44,000 44,000 0
OSQIBNSS AMTAA FIEt
22,000,000 =14 22,000
OAHAY 2F22 A
22,000,000 14! 22,000
SEH2SETHIT 2HEEZZ HESA 2,195,000 500,000 1,695,000
401 Al HI L2 0HHI 2,195,000 500,000 1,695,000
01 Al&HI 2,185,000 495,000 1,690,000
SERSETHIT2 ZHEEZZ HESA 2,185,000
03 A€ 208l 10,000 5,000 5,000
© =20l 10,000
FII0IEEH ZAHEEALA 300,000 500,000 200,000
401 A& HI YL 20| 300,000 500,000 200,000
01 Al&HI 298,500 498,500 200,000
OIIDITY ZAHEANE(Z2)AIY
298,500, 000& » 14! 298,500
03 A€ 208l 1,500 1,500 0
© =20l 1,500, 0002 14 1,500
MEX 7 ZHE =2 FHI 676,920 1,700,000 A 1,023,080
401 A& HI YL 20| 400,000 900,000 A500,000
01 Al&HI 400,000 900,000 A500,000
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A E
7(‘|i|-|: =
=R =

ALHI 2 0t
AR &
AA= ZH

o - PolE]|
SN HH O (SH) - MBAY - BAS Ofl Ak o oﬁ&% Hm=2
O NEXF? ZHEZZHHIZ2AH 400,000
403 AR SHHS X220 M 276,920 800,000 A 523,080
02 SI&SUHUSA=2E R EAIEH] 276,920 800,000 523,080
O MEXF XSSHAFS 276,920
=X ZHE =2 E 50,000 40,000 10,000
401 Al&EHI L2 0HY] 50,000 40,000 10,000
01 Al&H| 50,000 40,000 10,000
O SXA2 3276 ZHEZZ HEZ2AH
50,000,000 14! 50,000
=HE2XF ZHEZ=2HH| 923,000 0 923,000
401 Al HI L 2 01| 550,000 0 550,000
01 Al & 550,000 0 550,000
odgE&X+ ZHETZAH| 550,000,000 *1A! 550,000
403 AR SHHSX20| M 373,000 0 373,000
02 SI&SUHUSA=2E R EAIEH] 373,000 0 373,000
=SH2XF ZHE =2 AH] 373,000,000 * 14! 373,000
UAZ2 | 2SH(ZERSE) &2 HHIZAH 200,000 0 200,000
401 Al &2HI 2L OHY| 200,000 0 200,000
01 Al & 200,000 0 200,000
OUUE=Z 125K (ZSE2=H) &2 HHIZ A
00,000,000 14! 200,000
FA=Z 1-125 4 50,000 0 50,000
401 Al HI L 20| 50,000 0 50,000
01 Al & 50,000 0 50,000
OUICIHI X~ b 62t S22 E 2 At
50,000,000 x1A! 50,000
UUAZ A2 ET2IMAE ZAL 50,000 0 50,000
NEEEEIE TRl 50,000 0 50,000
01 Al 50,000 0 50,000
OUUAZ AN22| S2IHEZ2AI EH=A
50,000,000 x1A! 50,000
oFoFA R AL S22 Z2AH 30,000 0 30,000
401 Al&EHI L E20HY] 30,000 0 30,000
01 Al&H| 30,000 0 30,000
OUUAR HEP| TR ZAI dHEA
30,000,000 14! 30,000
S AL XH A4 955,306 7,465,503 N6,510,197
MABTHE AL =& 704,000 6,779,287 N6,075,287
gel(AgA o12) WRIXZAEAIY 500,000 1,302,000 A802,000
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SA

7(‘| il—l:

cHo

SAIH=
CAIKHAY

D MRASTIHTAIY FX

(Al

SA B SRA(EH) - MRAY - BAS 0f &t i HIDE
401 Al HIZ SO 500,000 1,002,000 A502,000
01 AlEHI 498,000 1,000,000 A502,000
OUX Z=d JIBAIZS AL 498,000,000& 14| 498,000
03 Al& 2T 2,000 2,000 0
OAIZ208I 2,000,000& * 14! 2,000
HRAZAIDIBE =& 204,000 174,000 30,000
201 Zet=dhl 131,000 111,000 20,000
01 At 22l 109,000 109,000 0
OE=2= oM & HMA 3,000,000 =14 3,000
OIS E2 ASZ D2 3,000,0002 *24] 6,000
OHNSY TD2 U +42S
100,000,000 * 14 100,000
02 s5=3H 22,000 2,000 20,000
Ol s=52= S 2,000,000& =14 2,000
OodX7 A0S 2L+HMelAME |Xl2el
20,000,000 14| 20,000
401 Al HI L 20| 73,000 63,000 10,000
01 AlEHI 70,000 60,000 10,000
O™eEX ESX KX B2l 70,000,000 14! 70,000
03 Al& 2T 3,000 3,000 0
OEXl & MAZAIDIBE 2= 3,000,000 *14] 3,000
SATHAALY =Z 251,306 186,216 65,090
CAMEXHLE 2 141,306 72,941 68,365
101 2124H| 110,606 49,041 61,565
04 JIZtN 22 NS 2+ 110,606 49,041 61,565
(OL=PAPN P~ PNE=Full = P=gcibaa] 43,196
OJI=22(38¥ 58 &)
2,600,600 x1E*1290 & 31,208
O A Al 140,000 =18 =120 2 1,680
Og &=l 1,560,360 1 »22 3,121
oAt 22=+¢
18,6602 x 1H *BAI 2t 120H 2 1,792
Ogxtrasit=g 99,5403 x1H x 12 1,195
o4t s 350,000 x1& * 124 2 4,200
CATHEXAAE & o2y 35,464
OJI=2(32¥ 628 &)
2,145,4003 « 181204 & 25,745
Og A Al 140,000& * 1 1204 & 1,680
Og &=l 1,287,240 x1& %23 2,575
OAlZte 222
15,3002 x 1H #BAI 2t 120H 2 1,478
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A ZAHED
M T AITHA

Sl CAITHAAIY =X (el @)
SA B SRA(EH) - MRAY - BAS 0f &t i HIDE
Ogxtzrast=g 82,1203 x1H » 12 986
O4th=d 250,000 x1E =124 2 3,000
CATHAXAHE 20 212 31,946
OJI=22 (384 78 &¥)
1,925,300 x 121204 & 23,104
Og A Al 140,000& * 1 1204 & 1,680
Og &= 1,155, 1803 x1& »22 2,311
OAlZtelaRsy
13,8103 x1H *8A| 2t 1204 = 1,326
Ogxtrast=g 73,6903 x1H x 12 885
o4t s 220,000& * 18+ 120H & 2,640
201 Zet=dhl 22,200 17,900 4,300
01 At 22l 9,800 11,300 A1,500
OZAIMY S22 M& & 21
5,000,000& * 14! 5,000
O ttl 100,000 *129H & 1,200
OMRES X 22F 722 300,000 *1274 2 3,600
02 s5=3H 2,400 6,600 4,200
Os4alH ¥ REH| 200,000 *129H & 2,400
03 A2 S H 10,000 0 10,000
O A TS =&l 10,000,000 12| 10,000
202 044 4,500 6,000 A1,500
01 =Woddl 4,500 6,000 A1,500
OZ A& FRF&0Hl 150,000 321 %102] 4,500
301 Let2d3 4,000 0 4,000
09 AL HIXI &S 4,000 0 4,000
Oo=gEFHEZI#FA 4,000,000 =14 4,000
A =S A 110,000 113,275 A3,275
201 fet2E| 8,000 8,000 0
01 AtR2telH 8,000 8,000 0
od=2E0= 3,000,000& *23| 6,000
O AMY S22 oM & M=
2,000,000& =14 2,000
202 044 2,000 2,000 0
01 =W OHI 2,000 2,000 0
OFAMY 2 =& 0]
100,000 221100 2 2,000
401 Al HIZL 20l 100,000 103,275 A3,275
01 AlEHI 100,000 103,275 A3,275
g2c TAMAFEAE EAHES
100,000,000 * 14 100,000
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A SAHE D
Hm: cAZR B
ot CIXtOIYY =& (chol: @l
% = PSNE
SN B CR(BH) - MRAY - BES 0l et S HRE
SAZ2 2el 60,200 808,000 AT47,800
CIRtQI b =& 60,200 808,000 AT47,800
CIXtoIke =& 2te| 60,200 7,000 53,200
201 LetEdy| 58,200 5,000 53,200
01 AtR2teltl 8,200 5,000 3,200
O3Z20Xe 222 g2t 1,000,000& 12/ 1,000
CERNEE RN,
100,000& 621 123 7,200
02 2322l 50,000 0 50,000
oUXg=Zil=s 222
50,000,000 14! 50,000
202 04l 2,000 2,000 0
01 =L YI 2,000 2,000 0
OZ&CIXte FRFE 200,000& 2021 %53 2,000
MEHIUAL 22 1,484,000 1,269,618 214,382
IH2s 2l 1,472,000 1,222,000 250,000
Hz2s |2 1,472,000 1,222,000 250,000
201 Let2dy| 640,000 640,000 0
02 23224l 640,000 640,000 0
Qlt2E 3322= 400,000,000 14 400,000
OQJt2,20tS LEDW A & thhl
20,000,000 «12& 240,000
202 04l 2,000 2,000 0
01 = LHGYI 2,000 2,000 0
Qitzsad FRFH 100,000 221 x103| 2,000
401 A& HI YL 20HHI 830,000 580,000 250,000
01 Al&HI 830,000 580,000 250,000
oJnzs AREX 300,000, 000& » 14! 300,000
OII2E RAE=> 2
330,000,000& 14 330,000
O Y&t 2R 2SS (HEZ) wH At
200,000,000 14 200,000
MEDIRA 2t 12,000 47,618 235,618
MEDIRI|SHCIE 2F 12,000 47,618 235,618
201 LetEdy| 2,000 2,000 0
01 AtR2teltl 2,000 2,000 0
cEHA Y MRS 2ol Z
2,000,000 =14 2,000
206 XH =4I 10,000 10,000 0
01 HZdl 10,000 10,000 0
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2M: TAHED
MM MEBBOAL 22
chel: MRz (e m e
SA SR (S) - MRAY - BAS il &t i RS2
OMERIRA JlsXelgt =cl M=l
10,000,000 * 14 10,000
HY2HAHI(SAIAHED) 149,273 148,461 812
ol 2E | 99,639 96,323 3,316
oA A (S AIHIE D) 99,639 96,323 3,316
101 el 24| 99,639 96,323 3,316
012+ 83,259 88,463 25,204
oxU2R¢ 10,8412 x1621 *480 Al 2t 83,259
03 BRA(RIAHAY)2ENES 16,380 7,860 8,520
OMERIRAI | SHelgt 16,380
OA2tel =% 14,0003 *260 Al 24+ 150%*32! 16,380
Jl2&l 49,634 52,138 A2,504
Jl2Z I (ZAIHE D 49,634 52,138 A2,504
201 et gy| 28,734 30,038 A 1,304
01 At 22|l 28,734 30,038 A 1,304
O Et==2H| 15,870,000+ 14! 15,870
Oz &l 32,0002 1621« 12& 6,144
oYXtz 6,720,000 =14 6,720
202 04| 17,300 18,500 A 1,200
01 =L YI 17,300 18,500 A 1,200
OYRFA0HI 17,300,000+ 14! 17,300
203 HRF&H| 3,600 3,600 0
04 EN2SLRFAH| 3,600 3,600 0
OFRA2IHRFAY| 300,000& x12& 3,600
MPES(ZAIHED 20,000 20,000 0
LHEHH K= 20,000 20,000 0
WHWEHHX = 20,000 20,000 0
eII3dEs 20,000 20,000 0
01 JI3dE= 20,000 20,000 0
o=22ZNYdIIZ &3 20,000,000 14 20,000
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